POLAR INTEGRATION PRACTICE

Work through the given steps that are necessary to solve this question.

Calculate the area of the region
inside the curve r = 2 4 sin(26) and
outside the curve r = 2 — 2sin(6).

(1) Draw a rough picture of the two functions on the same set of axes.

(2) Determine which function is further from the origin and which function is closer to the origin in
the desired region.

(3) Find the limits of integration.

(4) Set up the integral(s) to be completed.

(5) Do the integration.



